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CLASS XI DPP 2

Differentiation
d . oo dy .
—(s1n30°) is equal to 7.  y=secx + tanx, value of —is:
X X
(1) cos30° (2) cosec 30° (1) sec’x+tanx
(3) 0 (4) sin 30° (2) tan’x+secx

(3) secx(tanx +secx)
! 4) secx(l+secx

If y = 4x” — 2x + 4 then find & ) ( )

X

(1) 8x—2x (2) 82 8. i[1+l+log::c+‘[an:!c]=
(3) 8x—2+4 (4) 4x+4 de\  x
1
(D) 1—7+sec2x
dy 3
y =2t (3 —{) then find —. 1 .
dt (2) 1+— +sec™x
(1) 6-8t (2) 64t pe
(3) 6+5¢ (4) None of these 3) 1+i? .
¥ X
Ify = x> + 4x> — 8x + 4, then find &7 €)) —i?+l+sec3x
X X

(1) 2x+4x*—x (2) 2x+12x*-38

3) 2x+4x° -8 4) 2x+12%° —x 2
@) @ 9. i[ﬂJriJ is equal to:
dx Jx
. d‘l-’ . 2
Find Eatf:2,1f1’:2f~+4f (1) 1+i’) (2) _1+iﬁ
x- X~
(1) 4 (2 8 1 .
(3) 12 (4) 16 3) 1—? (4) x" -1
d 1 1 1 _ dv
w2t 10. Ify=Inx+e", then find -
(1) x+—17+—13— (1) e+x (2) Inx+x
X (3) l+e"' 4 l—H—z
n 2_3 x x
@ -3
X X d1
1 3 1. y=(1-x)', then find ¥ .
() x-— - Jaudas) dx
X X

(1) 101 —x%°, (2) 10(1-x%)°x?
@ —-= (3) —20x(1-x°)° (4) Not differentiable




